=g )
ST EE FEATTREEOF A APR KR OAFT A R1.6 A KIBIE)
T E% % X5 Bl 1%E | 2R [ 3R | 4% | 5B | AF L
%ﬂ%ﬁ%_ﬁb — 23 28 33 28 112
RS DEL 5 5 2 2 2 16
FIRRAETR 20 9 2 3 1 35
BB (312 [BBEAFRR 19 4 2 3 1 29 6
_ ShfE~ [AKFR, HEFR 1 5 0 0 0 6
HORRBLO) ; 24 32 32 38 31 157 N
LW)Z ATRESRK 24 30 35 32 38 159 %Fﬂ?ﬁ;
%ﬂ%ﬁ%_ﬁb — 12 13 20 26 30 101 ’\3%\*
Ao DEL 1 4 0 2 0 7l ¢
FIREAETR 24 0 8 4 0 0 36
PNGC) 13 0 7 3 0 0 23
. SRS 1 0 0 0 0 0 1|z A% ET
B RY s [RBGEHED of o o o o o ok
= REEHLL 0 0 1 1 0 0 9| EE&
i} T 1 0 0 0 0 0 1
HO+2+Q) 13 13 24 23 28 30 131
iim%)ﬂﬁ% 12 12 24 30 34 38 150
HEfon 9 19 21 30 79
ﬂiﬁﬂﬂﬁﬁbx%@iﬁ)&@ 2 0 1 0 0 3
Sk FIREAETR 9 7 6 3 0 25
thh 3R [3BAR® 10 11 6 3 0 30
() 55{1@.@"}75"5'%5 1 4 0 0 0 5|| 2
" |[EEART (Z5t) @ 1 1 1 3
HO+2+B3)+@) 12 21 26 25 31 115
iim%kmﬁ% 12 18 38 48 26 142 %ﬁﬂfg
T 5 9 12 6 11 43[| ~2AE
TRHFA 5> DEEA 2 0 0 0 0 0 of &t
Sk a1 FIRRAER 3 2 0 0 0 17
= %lkﬁﬁ (%ﬁ%ﬁ)&lﬁﬁ%‘*ﬂ)@ 11 3 2 0 0 0 16
WTFIF 1 0 0 0 0 0 1
-] HFO+2+Q) 11 8 11 12 6 11 59
iim%kmﬁ% 9 12 12 10 15 10 68
. i 8 7 8 7 9 39
'E’ ﬂiﬁﬂﬂﬁﬁbx%@iﬁ)&@ 0 1 0 1 0 2
A o FIRRAETH 5 5 2 3 1 0 16
BE SHEAR GiRAFREEG 6 4 3 3 1 0 17
R SHtFRM DS R, BEER 1 0 1 0 0 0 2
ITFIF 0 1 0 0 0 0 1
HO+Q+R) 6 12 11 11 9 9 58
iim%)ﬂﬁ% 6 8 12 20 20 23 89
HEfon 0 9 16 11 21 57
ﬂiﬁmgﬁ;ﬁ\emﬂ@ 1 0 0 0 0 1
o |FRRATR 5 3 4 0 0 12
B |9 RS E R EATER O 5 3 4 0 o 12
HO+2+Q) 6 12 20 11 21 70
fi@%)\ﬁlﬁ&%ﬂz 6 18 20 21 21 86
R 3 6 12 16 16 53
ﬂiﬁmgﬁ;ﬁ\emﬂ@ 0 0 0 0 0 0
MEEEEPER 3 2 4 0 0 12
e R FEYN € 2 N 3 2 4 0 o 12
HO+2+Q) 6 8 16 16 16 65
LW)Z ATRES 6 12 13 16 17 70
O N 0 1 5 0 3 9l
ﬂﬂ*lﬂ’;ﬁb\bd)iz:)\@ 0 0 0 0 0 0
MEEEEPER 1 0 0 0 0 1
il R Y NIE 7 V) i o o o o i
HO+Q+R) 1 1 5 0 3 10
LW)Z ATRES 3 3 3 16 17 42
#HEQD 0 28 77 120 120 148 493
TR D S DEE AR 0 9 10 3 5 2 29
= |3t FIRELAE 44 46 33 23 7 1 154
RE S5 A GHRAFTER) @ 33 45 32 22 7 i 140 2
Fiat [REAR (2it) @ 0 0 1 0 1 1 3
FHO+@+Q@+@) 33 82 120 145 133 152 665
L)Z AT RERET 33 83 129 169 202 190 806




SHTEE EATIISHEOF BB ARTERTAR A (R1.6 ARI)
e 2 X% OFR | 1R | 28R [ SR | 48R | 5m'R | &F
B 0 36 38 74
- 3052 | FEABREHQ 36 3 0 39
= EH@O+Q) 36 39 38 113
EER - - 210
91| #EQ 0 12 19 31
w| sg:% %ﬁés%)\%%ﬂz@ 14 1 2 17
=ey |EH(D+Q) 14 13 21 48
(55 /%)
I = - 170
MBEQD 0 48 57 105
gempt| LR FIRAEBHQ 50 4 2 56
HO+Q) 50 52 59 161
EER - - 380
SHTEE I HHEEOF B E AR ERTAER A (R1.65R51E)
T o 2 2B | mome| omE | 4Bk | 5B | it
f-'Lz\ B e 4 T EIR%k 5 5 26 29 16 81
EFEH 200
SMTEE AT ROEITONFEIOFA A (R1.63RI81E)
T e 2 a&f
oo |FIRESEFSME) 28
2@ __
FAE B 40

THMTEE BIBREHHEIDEHITT IOFBAL

iTRES RS
SiFx (FIFAMESKEFSNE) 10 3
i

FRAESH




